Seat No.: Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering — SEMESTER - 3 (NEW) - EXAMINATION - Winter-2023

Subject Code: 4330703 Date: 18-01-2024
Subject Name: Basics Of Operating System
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of non-programmable scientific calculator is permitted.
6. English version is authentic.
Marks
Q1 (8 Define Operating system and explain components of computer system 03
Us 1 () U391 (e cUlu LA 520 el 5122 [ARUsll el s) AHdl 03
(b)  Explain process life cycle with diagram. 04
@) w1s(d A1 WAA dIBs ALBSE AU 0¥

(©  List different types of operating system. Explain multiprogramming and 07
multitasking operating system in detail.

) [(afay uslRell U Mol ULl wetldl. HelWALML 1 09
Heglelxslol 2U(3L (MM [AldallR YHedl.

OR
(© List different types of operating system. Explain Time sharing and real 07
time operating system in detail.

) [alay usRell WU(Ea RMeHedl dlel wetidl. 2181 AR M Mg 09
2184 BRIl [Rua [AdlddlR Yol
Q2 (@ Differentiate between preemptive and non-preemptive scheduling 03
algorithm.
w2 () Yl fed w4 ela-ylAed 5y (G AN Ry d2 dsldd SR, 03

(b)  Calculate Average turnaround time and average waiting time using First come 04
first serve (FCFS) algorithm. Draw Gantt.

Process Arrival Time| Execution Time
P1 2 4
P2 0 3
P3 4 6
P4 6 7

(@)  §3 SH 53 Ud (FCFS) WL [RUHeA] GUALIL 53] UL 2oiRAGS HHY 0¥
Wl YRULL 2US X\dlell YHUA] A3 5. A2 £lR).

Process Arrival Time| Execution Time
P1 2 4
P2 0 3
P3 4 6
P4 6 7
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Explain mutual exclusion and critical section in detail.
1242436 A 5500l Wl [5[259 A5l [AdAdalR Mol

OR
Differentiate between CPU bound and I/O bound process.
CPU 1G5 3al 1/0 6d1GeS UlsUl A dslad s3U.

Calculate Average turnaround time and average waiting time using Shortest Job
First (SJF) algorithm. Draw Gantt.

Process Arrival Time| Execution Time
P1 2 4
P2 0 3
P3 4 6
P4 6 7

21222 %\0d 532 (SIF) WL [RUHeAL GUANIL 53 AIRUL 2oAnRUGS YHA
Wl YULL US Blelletl YHUCAL ARLd3] 5. e €.

Process Arrival Time| Execution Time
P1 2 4
P2 0 3
P3 4 6
P4 6 7

List strategies for dealing with deadlocks and explain any two of them.
SSEISY U18 51 5L HIeedl wReeil YU wsild] Ha quiedl slurl &
yuetdl.

Explain address translation in paging.

U1 A3y 2leu@LLet yHdl

Solve the example using first fit and best fit algorithm. Consider
multiprogramming with fixed partition having memory partition of 200
KB, 400 KB, 600 KB, 500 KB, 300 KB and 250 KB.

Process Memory Request
P1 375K
P2 210K
P3 468K
P4 291K

U (52 Wa AY (52 WRNRYUAL GUALL 531 Gelsl G356, 200 KB,
400 KB, 600 KB, 500 KB, 300 KB 349 250 KB RH3] ul2[elel "2lddl (554
yl2lelet »18 HlC2ulaul oA eleiu &)

Process Memory Request
P1 375K
P2 210K
P3 468K
P4 291K
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Explain Multiprogramming with Fixed (static) partition with figure.
(55 (Re1R) uLelalel U18) wLs(d U1 HEWALFHL yHomd).

OR
Write short note on swapping.
KU1 YR g5l «tly qul.
Consider page reference string 1, 3, 0, 3, 5, 6, 3 with 3 page frames.
Find the number of page faults.
3 0o FH A8 Uy ee{ R8211, 3,0, 3,5, 6,34 leini €l. Wy sle2
of| vl lHl.
Explain Multiprogramming with Dynamic partition with figure.
15(d A SIIAMS ULZolel A1 HCWALL Yuesd).
Explain components of Linux operating system/Architecture of Linux
OS.
Linux U221 RieHell t25)/Linux 0S «il A1(5E25u9 A1),
Explain various file operations in detail.
[alay s16e s1H{R1A (AotdalR Yuextdl.
Explain SCAN algorithm with example of 200 tracks and disk request
sequence is 98,183,37,122,14,124,65,67, head pointer starting at 53.Find
number of head movement in cylinder.
200 250l GeleW U8 ¥vel WQNRYU yHd] HA (S5 [deid]l sU
98,183,37,122,14,124,65,67 8, &5 Ulpe2? 53 &l 20 1A B. (UM &S
Yatesi] quyl el

OR
Explain features of Linux operating system.
Linux 3UR(E1 (AeHefl (ANl yuexdl.
Explain various attributes of file.
51960l [dlay A loye 1ued).
Explain C-SCAN algorithm with example of 200 tracks and disk request
sequence is 98,183,37,122,14,124,65,67, head pointer starting at 53.Find
number of head movement in cylinder.
200 2501l Bel&L A1 C-SCAN W ReH 1Hosd) U (525 (deidl sU
98,183,37,122,14,124,65,67 8, &5 Uleye2? 53 &l 2= 1Y B. [AU[ASMi &S
Yateesi] qul 20l
Define Throughput, Turnaround time and waiting time.
gy, 21U GeS UHY WA U %d ol HHU VAL 53,
Give difference between logical address and physical address.
el [se WY W (§(0556 13U A dgldd wI).
Write shell script to read three numbers from user and find maximum
value among them
YosR U] A8l elR] Seiye Qdl HI2 Ad s dull ua duiell Hedy
Y&y 20ldl

OR
What is deadlock? Explain conditions for deadlock to occur.
55415 9] 87 556ls Adl HI2eil 21l U1l
Give difference between external fragmentation and internal
fragmentation.
L&l [AI%el W AidRS (o1t d dslald 1),
Write shell script to read five numbers from user and print its sum and
average.
Y52 ULl Uid o{eiR] Seiye Al HI2 A4 (512 Gl wal defl HAL01] 34al
URAL (M2 53,
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